

 Invoice #:
 MC-1240273832

 Invoice Date:
 02/29/2024

 Contract #:
 28625

 Page:
 1

 Net Amount Due:
 \$2,016.00

Advertiser: CARL BOYANTON CONGRESS DIST 4

11440 HAIRINA PLACE DIAMONDHEAD, MS 39525 Station(s): WFMM-FM

WLAU-FM WOSM-FM

Advertiser: CARL BOYANTON CONGRESS DIST 4
Product: POLITICAL DIST 4 CONGRESS

Estimate #:

Agency Client Code:

Buyer Name:

Salesperson(s): Beth Ballard

Terms: Net Due Upon Receipt.

Day	Date	Time	Ln	Length	Product	ISCI	Rate
WFMN	Л- FМ						
MON	02/26/24	06:18a	2	60	VOTE MARCH 12TH CHOICE		\$14.00
MON	02/26/24	06:50a	1	30	VOTE MARCH 12TH		\$7.00
MON	02/26/24	07:51a	1	30	VOTE MARCH 12TH		\$7.00
MON	02/26/24	08:18a	2	60	MAKE A CHANGE		\$14.00
MON	02/26/24	10:18a	3	30	VOTE MARCH 12TH		\$7.00
MON	02/26/24	10:33a	4	60	VOTE MARCH 12TH CHOICE		\$14.00
MON	02/26/24	11:32a	4	60	MAKE A CHANGE		\$14.00
MON	02/26/24	12:51p	3	30	VOTE MARCH 12TH		\$7.00
MON	02/26/24	03:51p	6	60	VOTE MARCH 12TH CHOICE		\$14.00
MON	02/26/24	04:33p	6	60	MAKE A CHANGE		\$14.00
MON	02/26/24	04:51p	5	30	VOTE MARCH 12TH		\$7.00
MON	02/26/24	05:51p	5	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	07:32a	2	60	VOTE MARCH 12TH CHOICE		\$14.00
TUE	02/27/24	08:20a	1	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	09:20a	1	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	09:50a	2	60	MAKE A CHANGE		\$14.00
TUE	02/27/24	10:18a	3	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	11:01a	3	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	11:33a	4	60	VOTE MARCH 12TH CHOICE		\$14.00
TUE	02/27/24	12:19p	4	60	MAKE A CHANGE		\$14.00
TUE	02/27/24	03:18p	6	60	VOTE MARCH 12TH CHOICE		\$14.00
TUE	02/27/24	03:32p	5	30	VOTE MARCH 12TH		\$7.00
TUE	02/27/24	03:49p	6	60	MAKE A CHANGE		\$14.00
TUE	02/27/24	05:12p	5	30	VOTE MARCH 12TH		\$7.00
WED	02/28/24	06:51a	2	60	VOTE MARCH 12TH CHOICE		\$14.00
WED	02/28/24	07:20a	1	30	VOTE MARCH 12TH		\$7.00
WED	02/28/24	08:19a	1	30	VOTE MARCH 12TH		\$7.00
WED	02/28/24	09:32a	2	60	MAKE A CHANGE		\$14.00
WED	02/28/24	10:18a	4	60	VOTE MARCH 12TH CHOICE		\$14.00
WED	02/28/24	10:50a	3	30	VOTE MARCH 12TH		\$7.00
WED	02/28/24	11:49a	3	30	VOTE MARCH 12TH		\$7.00
WED	02/28/24	12:18p	4	60	MAKE A CHANGE		\$14.00



 Invoice #:
 MC-1240273832

 Invoice Date:
 02/29/2024

 Contract #:
 28625

 Page:
 2

Net Amount Due: \$2,016.00

Day	Date	Time	Ln	Length	Product	ISCI Rate
WED	02/28/24	03:49p	5	30	VOTE MARCH 12TH	\$7.00
WED			6	60	VOTE MARCH 12TH CHOICE	\$14.00
WED	02/28/24		5	30	VOTE MARCH 12TH	\$7.00
WED			6	60	MAKE A CHANGE	\$14.00
THU	02/29/24	06:50a	1	30	VOTE MARCH 12TH	\$7.00
THU	02/29/24		2	60	VOTE MARCH 12TH CHOICE	\$14.00
THU	02/29/24	08:19a	2	60	MAKE A CHANGE	\$14.00
THU	02/29/24	09:18a	1	30	VOTE MARCH 12TH	\$7.00
THU	02/29/24	10:01a	4	60	VOTE MARCH 12TH CHOICE	\$14.00
THU	02/29/24	10:50a	3	30	VOTE MARCH 12TH	\$7.00
THU	02/29/24	11:33a	3	30	VOTE MARCH 12TH	\$7.00
THU		12:01p	4	60	MAKE A CHANGE	\$14.00
THU	02/29/24		6	60	VOTE MARCH 12TH CHOICE	\$14.00
THU	02/29/24		5	30	VOTE MARCH 12TH	\$7.00
THU	02/29/24		6	60	MAKE A CHANGE	\$14.00
THU	02/29/24		5	30	VOTE MARCH 12TH	\$7.00
1110	02/20/24	00.10р	Ü	00	VOTE WINTENT TETT	Ψ1.00
WLAU	J-FM					
MON	02/26/24	06:20a	1	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	07:20a	1	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	08:34a	2	60	VOTE MARCH 12TH CHOICE	\$12.00
MON	02/26/24	09:34a	2	60	MAKE A CHANGE	\$12.00
MON	02/26/24	10:34a	3	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	11:33a	4	60	VOTE MARCH 12TH CHOICE	\$12.00
MON	02/26/24	12:01p	3	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	12:34p	4	60	MAKE A CHANGE	\$12.00
MON	02/26/24	-	5	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	04:17p	6	60	VOTE MARCH 12TH CHOICE	\$12.00
MON	02/26/24	04:34p	5	30	VOTE MARCH 12TH	\$6.00
MON	02/26/24	05:19p	6	60	MAKE A CHANGE	\$12.00
TUE	02/27/24	-	2	60	VOTE MARCH 12TH CHOICE	\$12.00
TUE	02/27/24	08:18a	1	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	08:34a	2	60	MAKE A CHANGE	\$12.00
TUE	02/27/24	09:32a	1	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	10:34a	4	60	VOTE MARCH 12TH CHOICE	\$12.00
TUE	02/27/24	11:19a	3	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	12:19p	4	60	MAKE A CHANGE	\$12.00
TUE	02/27/24	-	3	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	-	5	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	•	5	30	VOTE MARCH 12TH	\$6.00
TUE	02/27/24	-	6	60	VOTE MARCH 12TH CHOICE	\$12.00
TUE	02/27/24	-	6	60	MAKE A CHANGE	\$12.00
WED	02/28/24	-	1	30	VOTE MARCH 12TH	\$6.00
WED	02/28/24		2	60	VOTE MARCH 12TH CHOICE	\$12.00
WED	02/28/24		2	60	MAKE A CHANGE	\$12.00
WED	02/28/24		1	30	VOTE MARCH 12TH	\$6.00
WED	02/28/24		4	60	VOTE MARCH 12TH CHOICE	\$12.00
						¥1-100



Invoice #: MC-1240273832
Invoice Date: 02/29/2024
Contract #: 28625

Page: 3 Net Amount Due: \$2,016.00

WED	Day	Date	Time	Ln	Length	Product	ISCI	Rate					
WED 02/28/24 12/20p 3 30 VOTE MARCH 12TH \$6.00 \$12	WED	02/28/24	11:19a	4		MAKE A CHANGE		\$12.00					
WED 02/28/24 04:17p 6 60 VOTE MARCH 12TH CHOICE \$12.00	WED	02/28/24	12:00p	3	30	VOTE MARCH 12TH		\$6.00					
WED 02/28/24 04:37p 6 60 MAKEA C-HANGE \$12.00	WED	02/28/24	12:20p	3	30	VOTE MARCH 12TH		\$6.00					
WED 0.228.24 0.433p 5 30	WED	02/28/24	03:50p	6	60	VOTE MARCH 12TH CHOICE	VOTE MARCH 12TH CHOICE						
WEB 0.228/24 0.5150	WED	02/28/24	04:17p	6	60	MAKE A CHANGE	\$12.00						
THU 02/29/24 06-19/a 2 60 MAKE A CHANGE \$12.00 THU 02/29/24 09-19/a 1 30 MAKE A CHANGE \$12.00 THU 02/29/24 09-19/a 1 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 10-18/a 4 60 VOTE MARCH 12TH CHOICE \$2.00 THU 02/29/24 11-32a 3 30 VOTE MARCH 12TH CHOICE \$2.00 THU 02/29/24 11-32a 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12-10p 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12-32p 4 60 MAKE A CHANGE \$12.00 THU 02/29/24 16-32p 6 60 VOTE MARCH 12TH \$6.00 THU 02/29/24 04-33p 6 60 VOTE MARCH 12TH \$6.00 THU 02/29/24 04-33p 6 60 VOTE MARCH 12TH \$6.00	WED	02/28/24	04:33p	5	30	VOTE MARCH 12TH	\$6.00						
THU	WED	02/28/24	05:50p	5	30	VOTE MARCH 12TH	\$6.00						
THU 02/29/24 03/28 1 30	THU	02/29/24	06:19a	2	60	VOTE MARCH 12TH CHOICE							
THU 02/29/24 09:32a 1 30 VOTE MARCH 12TH €60 S12.00 THU 02/29/24 11:32a 3 0 VOTE MARCH 12TH \$5.00 THU 02/29/24 11:32b 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12:32b 4 60 MAKE A CHANGE \$12.00 THU 02/29/24 03:50p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33b 6 60 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33b 6 60 VOTE MARCH 12TH \$6.00 WOSIM-FW U 02/29/24 04:33b 6 60 VOTE MARCH 12TH \$6.00 WOSIM-FW U 02/29/24 04:33b 6 60 VOTE MARCH 12TH \$6.00 MON 02/29/24 05:32b 6 60 VOTE MARCH 2TH \$7.00 MON 02/29/24 05:32b 6 60	THU	02/29/24	07:19a	2	60	MAKE A CHANGE		\$12.00					
THU 02/29/24 10.18a 4 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 11:33a 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12:32p 4 60 MAKE A CHANGE \$12.00 THU 02/29/24 03:50p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:18p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 WOTE MARCH 12TH CHOICE \$12.00 WOSHITE 0 05:32p 6 60 MAKE A CHANGE \$12.00 WOSHITE 0 05:32p 6 60 MAKE A CHANGE <td< td=""><td>THU</td><td>02/29/24</td><td>08:19a</td><td>1</td><td>30</td><td>VOTE MARCH 12TH</td><td></td><td>\$6.00</td></td<>	THU	02/29/24	08:19a	1	30	VOTE MARCH 12TH		\$6.00					
THU 02/29/24 11:32a 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12:20 p 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12:20 p 4 60 MAKE A CHANGE \$12:00 THU 02/29/24 03:50 p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 03:50 p 6 60 VOTE MARCH 12TH \$6.00 THU 02/29/24 03:32 p 6 60 VOTE MARCH 12TH CHOICE \$12.00 WOSTH MON 02/26/24 05:32 p 6 60 VOTE MARCH 12TH CHOICE \$12.00 WOSTH WOSTH W \$12.00 \$12.00 \$12.00 WOSTH WOSTH \$6 60 \$60 \$10 \$12.00 \$12.00 WOSTH WOSTH \$30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 \$15.00 MON \$2/26/24 09:18a 2 <th< td=""><td>THU</td><td>02/29/24</td><td>09:32a</td><td>1</td><td>30</td><td>VOTE MARCH 12TH</td><td></td><td>\$6.00</td></th<>	THU	02/29/24	09:32a	1	30	VOTE MARCH 12TH		\$6.00					
THU 02/29/24 12:01p 3 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 12:32p 4 60 MAKE A CHANGE \$12.00 THU 02/29/24 03:50p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 WOS#-IN MON 02/26/24 05:32p 6 60 MAKE A CHANGE WOS#-IN MON 02/26/24 05:32p 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B F	THU	02/29/24	10:18a	4	60	VOTE MARCH 12TH CHOICE		\$12.00					
THU 02/29/24 12:32p 4 60 MAKE A CHANGE \$12.00 THU 02/29/24 03:50p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 WOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 MAKE A CHANGE *** WOSH-W MON 02/26/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 06:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 3	THU	02/29/24	11:32a	3	30	VOTE MARCH 12TH		\$6.00					
THU 02/29/24 03:50p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:18p 5 30 VOTE MARCH 12TH \$6.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 WOSM-FM 20/29/24 05:32p 6 60 VOTE MARCH 12TH CHOICE \$12.00 WOSM-FM 30 66 60 VOTE MARCH 12TH CHOICE \$12.00 WOSW-FW W \$12.00 MAKE A CHANGE \$12.00 WOSW-FW W \$15.00 MAKE A CHANGE \$15.00 MON 02/26/24 07:32a 1 30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 MON 02/26/24 07:38a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30	THU	02/29/24	12:01p	3	30	VOTE MARCH 12TH		\$6.00					
THU 02/29/24 04:18p 5 30 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 VOTE MARCH 12TH CHOICE \$12.00 VOSSM-FW MON 02/26/24 05:32p 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 05:32a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:18a 4 60 60A Final W Tag 022324 30 Final w Tag 022324 \$30.00	THU	02/29/24	12:32p	4	60	MAKE A CHANGE		\$12.00					
THU 02/29/24 04:33p 6 60 VOTE MARCH 12TH CHOICE \$12.00 THU 02/29/24 05:32p 6 60 MAKE A CHANGE \$12.00 WOSSW-FW MON 02/26/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 60 Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 4 60 60A Final W Tag 022324 30 Final w Tag 022324 30 Final w	THU	02/29/24	03:50p	5	30	VOTE MARCH 12TH							
THU 02/29/24 05:32p 6 60 MAKE A CHANGE \$12.00 WOSN-FW W STEAL STEAL \$15.00 MON 02/26/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 9:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 9:11a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 02:19p 5	THU	02/29/24	04:18p	5	30	VOTE MARCH 12TH		\$6.00					
WOSN-FM MON 02/26/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 03:19p 5 30 3	THU	02/29/24	04:33p	6	60	VOTE MARCH 12TH CHOICE		\$12.00					
MON 02/26/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:18a 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 60A Final W Tag 022324 \$15.00 MON 02/26/24 05:18p 5 30 30 Final w Tag	THU	02/29/24	05:32p	6	60	MAKE A CHANGE	MAKE A CHANGE						
MON 02/26/24 07:32a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final w Tag 0223	WOSI	Л- FМ											
MON 02/26/24 08:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 09:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 60A Final W Tag 022324 \$315.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$35.00 MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 60B Final W Tag 022324 \$35.00 MON 02/26/24 05:18p 5 30 30 Final w Tag 022324 60B Final W Tag 022324 \$35.00 MON 02/26/24 05:19p 6 60 60B Final W Tag 022324 60B Final W Ta	MON	02/26/24	06:50a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
MON 02/26/24 09:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 30 Final W Tag 022324 \$31.00 MON 02/26/24 12:32p 3 30 Final W Tag 022324 30 Final W Tag 022324 \$30.00 MON 02/26/24 04:19p 6 60 G0B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 06:18a 2 60 G0B Final W Tag 022324 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00	MON	02/26/24	07:32a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
MON 02/26/24 10:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 03:18p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Ta	MON	02/26/24	08:31a	2	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					
MON 02/26/24 11:17a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 03:19p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:51p 6 60 A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 A GOA Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 09:18a 1 30 S Final w Tag 022324 30 Final w Tag 022324 30 Final w Tag 022324	MON	02/26/24	09:18a	2	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00					
MON 02/26/24 11:48a 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 04:19p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final W Tag 022324 60A Final W Tag 022324 60B Final W Tag 022324 60A Final W Tag 022324 60A Final W Tag 022324 60B Final W Tag 022324	MON	02/26/24	10:17a	4	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					
MON 02/26/24 12:32p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 04:19p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 02	MON	02/26/24	11:17a	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
MON 02/26/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 04:19p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 0	MON	02/26/24	11:48a	4	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00					
MON 02/26/24 04:19p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 MON 02/26/24 05:18p 5 30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final W Tag 022324 30 Final W Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final W Tag 022324 60A Final W Tag	MON	02/26/24	12:32p	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
MON 02/26/24 05:18p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022	MON	02/26/24	03:19p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
MON 02/26/24 05:51p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 0	MON	02/26/24	04:19p	6	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					
TUE 02/27/24 06:18a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60B Final W Tag 022324 60A Final W Tag 022	MON	02/26/24	05:18p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
TUE 02/27/24 07:18a 2 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60B Final W Tag 022324 60A Final W Tag 0223	MON	02/26/24	05:51p	6	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00					
TUE 02/27/24 08:01a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 TUE 02/27/24 03:51p 6 60 G0B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 G0A Final W Tag 022324 60A Final W Tag 022324 \$30.00	TUE	02/27/24	06:18a	2	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					
TUE 02/27/24 09:18a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$30.00 TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022		02/27/24	07:18a	2	60	60A Final W Tag 022324	60A Final W Tag 022324						
TUE 02/27/24 10:18a 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022	TUE	02/27/24	08:01a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
TUE 02/27/24 11:17a 4 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:51p 5 30 30 Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00	TUE	02/27/24	09:18a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
TUE 02/27/24 12:17p 4 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00	TUE	02/27/24	10:18a	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00					
TUE 02/27/24 12:48p 3 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00	TUE	02/27/24	11:17a	4	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					
TUE 02/27/24 03:19p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00	TUE	02/27/24	12:17p	4	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00					
TUE 02/27/24 03:51p 6 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00 TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00		02/27/24	12:48p	3	30	30 Final w Tag 022324	\$15.00						
TUE 02/27/24 05:34p 6 60 60A Final W Tag 022324 60A Final W Tag 022324 \$30.00 TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00		02/27/24	03:19p	5	30	30 Final w Tag 022324	\$15.00						
TUE 02/27/24 05:55p 5 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00 WED 02/28/24 06:50a 1 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00		02/27/24	03:51p	6	60	60B Final W Tag 022324	\$30.00						
WED 02/28/24 06:50a 1 30 30 Final w Tag 022324 30 Final w Tag 022324 \$15.00	TUE	02/27/24	05:34p	6	60	60A Final W Tag 022324	\$30.00						
	TUE	02/27/24	05:55p	5	30	30 Final w Tag 022324	\$15.00						
WED 02/28/24 07:31a 2 60 60B Final W Tag 022324 60B Final W Tag 022324 \$30.00	WED	02/28/24	06:50a	1	30	30 Final w Tag 022324	\$15.00						
	WED	02/28/24	07:31a	2	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00					



Invoice #: MC-1240273832 Invoice Date: 02/29/2024 Contract #: 28625

Page: 4

Net Amount Due: \$2,016.00

Day	Date	Time	Ln	Length	Product	ISCI	Rate
WED	02/28/24	08:32a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
WED	02/28/24	09:32a	2	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00
WED	02/28/24	10:17a	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
WED	02/28/24	11:49a	4	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00
WED	02/28/24	12:19p	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
WED	02/28/24	12:50p	4	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00
WED	02/28/24	03:34p	6	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00
WED	02/28/24	04:19p	6	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00
WED	02/28/24	04:51p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
WED	02/28/24	05:34p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	07:50a	2	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00
THU	02/29/24	08:50a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	09:18a	2	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00
THU	02/29/24	09:50a	1	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	10:17a	4	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00
THU	02/29/24	11:18a	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	12:19p	4	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00
THU	02/29/24	12:51p	3	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	03:18p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	03:51p	6	60	60B Final W Tag 022324	60B Final W Tag 022324	\$30.00
THU	02/29/24	04:49p	5	30	30 Final w Tag 022324	30 Final w Tag 022324	\$15.00
THU	02/29/24	05:51p	6	60	60A Final W Tag 022324	60A Final W Tag 022324	\$30.00

WFMM-FM		WLAU-FM		WOSM-FM	WOSM-FM		
Total Spots:	48	Total Spots:	48	Total Spots:	48		
Gross Amount:	\$504.00	Gross Amount:	\$432.00	Gross Amount:	\$1,080.00		
Agency Commission:	\$0.00	Agency Commission:	\$0.00	Agency Commission:	\$0.00		
Net Amount:	\$504.00	Net Amount:	\$432.00	Net Amount:	\$1,080.00		

Remit To: SuperTalk Mississippi Media P.O. Box 1077 Oxford, MS 38655
 Invoice Totals

 Total Spots:
 144

 Gross Amount:
 \$2,016.00

 Agency Commission:
 \$0.00

 See Statement For Balance
 Net Amount Due:
 \$2,016.00



 Invoice #:
 MC-1240273832

 Invoice Date:
 02/29/2024

 Contract #:
 28625

 Page:
 5

Net Amount Due: \$2,016.00

SuperTalk Mississippi Media is committed to the elimination of bias based on gender, race, class, econ status, ethnic, culture or religious background, sexual orientation, age or physical ability.

Billing Questions? Call Angie at 601-991-2333 . A convenience fee will be added to credit card payments. Thank you for your business!

Be sure you send remittance per your STATEMENT. This is only an invoice.

Copy of Electronic Invoice



CARL BOYANTON CONGRESS DIST 4

Remit To: SuperTalk Mississippi Media 6311 Ridgewood Road Jackson, MS 39211

Invoice:	MC-1240375793				
E-Invoice:	E75793				
Station:	WFMM-FM, WLAU-FM, WOSM-FM				
El Code:	(None)				
Invoice Date:	3/31/2024				
Total Due:	\$4,032.00				
Amt Paid:					

-----8<-- Detach and return with payment. -->8------

CARL BOYANTON CONGRESS DIST 4 11440 HAIRINA PLACE DIAMONDHEAD, MS 39525

CARL BOYANTON CONGRESS DIST 4

PO #: Agy Code: Est#:

Product: POLITICAL DIST 4

Buyer:

Invoice#:	MC-1240375793
El Code:	(None)
Date:	3/31/2024
Contract:	28625
Total Due:	\$4,032.00

Payment Terms: See Statement For Balance

Salesrep: Beth Ballard

Station	Туре	Qty	Gross	Total
WFMM-FM				
	Spots	96	\$1,008.00	\$1,008.00
WLAU-FM				
	Spots	96	\$864.00	\$864.00
WOSM-FM				
	Spots	96	\$2,160.00	\$2,160.00
1				
TOTALS	Spots	288	\$4,032.00	\$4,032.00

INVOICE DETAIL

WFMM-FM

SPOT DETAILS

	DETAILS								1 0. 1		
Date		Len				Times			Qty	Rate	Total
			ISCI/Tape#	E			Desc: MAK	E A CHANGE			
Fri	3/1/2024	60	09:35AM	11:01AM	05:18PM				3	\$14.00	\$42.00
Mon	3/4/2024	60	08:33AM	12:19PM	05:18PM				3	\$14.00	\$42.00
Tue	3/5/2024	60	08:18AM	11:18AM	04:17PM				3	\$14.00	\$42.00
Wed	3/6/2024	60	09:19AM	12:49PM	05:19PM				3	\$14.00	\$42.00
Thu	3/7/2024	60	09:34AM	12:18PM	04:34PM				3	\$14.00	\$42.00
Fri	3/8/2024	60	08:18AM	12:51PM	05:33PM				3	\$14.00	\$42.00
Mon	3/11/2024	60	09:17AM	12:50PM	05:50PM				3	\$14.00	\$42.00
Tue	3/12/2024	60	07:50AM	10:19AM	11:18AM				3	\$14.00	\$42.00
			ISCI/Tape#	Ε			Desc: VOT	E MARCH 12TH			
Fri	3/1/2024	30	06:50AM	08:20AM	11:50AM	12:49PM	04:18PM	04:50PM	6	\$7.00	\$42.00
Mon	3/4/2024	30	07:33AM	09:18AM	10:01AM	11:50AM	03:50PM	05:50PM	6	\$7.00	\$42.00
Tue	3/5/2024	30	07:50AM	09:32AM	10:01AM	12:01PM	03:01PM	04:32PM	6	\$7.00	\$42.00
Wed	3/6/2024	30	06:51AM	08:51AM	10:33AM	12:18PM	03:50PM	04:18PM	6	\$7.00	\$42.00
Thu	3/7/2024	30	07:49AM	08:18AM	11:18AM	12:49PM	04:01PM	05:32PM	6	\$7.00	\$42.00
Fri	3/8/2024	30	06:51AM	09:19AM	11:19AM	12:17PM	03:01PM	05:18PM	6	\$7.00	\$42.00
Mon	3/11/2024	30	07:18AM	08:51AM	10:49AM	12:19PM	04:19PM	05:20PM	6	\$7.00	\$42.00
Tue	3/12/2024	30	06:01AM	08:33AM	09:20AM	10:01AM	11:01AM	11:32AM	6	\$7.00	\$42.00

			ISCI/Tape#	;		Desc: VOTE MARCH 12TH CHOICE			
Fri	3/1/2024	60	07:49AM	10:18AM	03:18PM		3	\$14.00	\$42.00
Mon	3/4/2024	60	06:33AM	11:01AM	04:19PM		3	\$14.00	\$42.00
Tue	3/5/2024	60	06:17AM	10:32AM	03:32PM		3	\$14.00	\$42.00
Wed	3/6/2024	60	07:17AM	11:18AM	03:18PM		3	\$14.00	\$42.00
Thu	3/7/2024	60	06:33AM	10:49AM	03:17PM		3	\$14.00	\$42.00
Fri	3/8/2024	60	07:50AM	10:34AM	04:33PM		3	\$14.00	\$42.00
Mon	3/11/2024	60	06:49AM	11:19AM	03:18PM		3	\$14.00	\$42.00
Tue	3/12/2024	60	06:18AM	09:50AM	10:49AM		3	\$14.00	\$42.00
						WFMM-FM SPOT TOTALS:	96		\$1,008.00

WLAU-FM

SPOT DETAILS

Date		Len				Times			Qty	Rate	Total
			ISCI/Tape#	:			Desc: MAK	E A CHANGE			
Fri	3/1/2024	60	09:18AM	12:19PM	05:51PM				3	\$12.00	\$36.00
Mon	3/4/2024	60	09:33AM	11:33AM	05:00PM				3	\$12.00	\$36.00
Tue	3/5/2024	60	08:19AM	12:01PM	04:33PM				3	\$12.00	\$36.00
Wed	3/6/2024	60	08:34AM	12:49PM	04:49PM				3	\$12.00	\$36.00
Thu	3/7/2024	60	08:33AM	12:50PM	05:32PM				3	\$12.00	\$36.00
Fri	3/8/2024	60	08:34AM	12:33PM	05:32PM				3	\$12.00	\$36.00
Mon	3/11/2024	60	09:32AM	12:33PM	05:18PM				3	\$12.00	\$36.00
Tue	3/12/2024	60	08:17AM	10:18AM	11:17AM				3	\$12.00	\$36.00
	ISCI/Tape#: Desc: VOTE MARCH 12TH						E MARCH 12TH				
Fri	3/1/2024	30	07:17AM	08:50AM	11:49AM	12:50PM	03:18PM	04:19PM	6	\$6.00	\$36.00
Mon	3/4/2024	30	06:19AM	07:18AM	10:00AM	12:18PM	03:49PM	05:32PM	6	\$6.00	\$36.00
Tue	3/5/2024	30	08:50AM	09:19AM	10:01AM	12:51PM	03:01PM	04:01PM	6	\$6.00	\$36.00
Wed	3/6/2024	30	06:18AM	07:51AM	11:33AM	12:01PM	03:17PM	05:34PM	6	\$6.00	\$36.00
Thu	3/7/2024	30	07:48AM	09:17AM	10:49AM	12:19PM	04:49PM	05:49PM	6	\$6.00	\$36.00
Fri	3/8/2024	30	06:01AM	07:19AM	10:49AM	12:01PM	03:50PM	05:01PM	6	\$6.00	\$36.00
Mon	3/11/2024	30	06:19AM	08:50AM	11:33AM	12:01PM	04:51PM	05:49PM	6	\$6.00	\$36.00
Tue	3/12/2024	30	07:51AM	08:32AM	09:20AM	10:01AM	10:33AM	11:49AM	6	\$6.00	\$36.00
			ISCI/Tape#	:			Desc: VOTI CHOICE	E MARCH 12TH			
Fri	3/1/2024	60	06:17AM	10:32AM	03:50PM				3	\$12.00	\$36.00
Mon	3/4/2024	60	07:33AM	10:32AM	04:34PM				3	\$12.00	\$36.00
Tue	3/5/2024	60	07:18AM	11:32AM	03:33PM				3	\$12.00	\$36.00
Wed	3/6/2024	60	07:18AM	10:32AM	03:32PM				3	\$12.00	\$36.00
Thu	3/7/2024	60	06:32AM	11:18AM	03:33PM				3	\$12.00	\$36.00
Fri	3/8/2024	60	06:33AM	11:32AM	04:18PM				3	\$12.00	\$36.00
Mon	3/11/2024	60	07:32AM	10:32AM	03:49PM				3	\$12.00	\$36.00
Tue	3/12/2024	60	07:17AM	09:50AM	10:49AM				3	\$12.00	\$36.00
							WL	AU-FM SPOT TOTALS:	96		\$864.00

WOSM-FM

SPOT DETAILS

<u> </u>	OF OT BETALES												
Date		Len	Len Times							Rate	Total		
			ISCI/Tape#: 30 Final w Tag 022324				Desc: 30 Final w Tag 022324						
Fri	3/1/2024	30	06:18AM	07:18AM	11:20AM	11:49AM	04:18PM	05:49PM	6	\$15.00	\$90.00		
Mon	3/4/2024	30	08:34AM	09:18AM	10:20AM	12:51PM	03:01PM	03:34PM	6	\$15.00	\$90.00		
Tue	3/5/2024	30	06:18AM	08:50AM	10:32AM	12:49PM	03:18PM	05:20PM	6	\$15.00	\$90.00		
Wed	3/6/2024	30	07:32AM	09:18AM	10:48AM	11:32AM	03:01PM	04:01PM	6	\$15.00	\$90.00		
Thu	3/7/2024	30	07:50AM	08:50AM	11:17AM	12:49PM	04:17PM	05:01PM	6	\$15.00	\$90.00		
Fri	3/8/2024	30	06:18AM	09:32AM	10:33AM	12:18PM	03:19PM	05:49PM	6	\$15.00	\$90.00		
Mon	3/11/2024	30	07:18AM	09:33AM	11:17AM	12:17PM	03:51PM	04:34PM	6	\$15.00	\$90.00		
Tue	3/12/2024	30	06:18AM	08:34AM	09:49AM	10:32AM	10:49AM	11:33AM	6	\$15.00	\$90.00		

	ISCI/Tape#: 60A Final W Tag 022324					Desc: 60A Final W Tag 022324			
Fri	3/1/2024	60	09:18AM	12:17PM	04:51PM		3	\$30.00	\$90.00
Mon	3/4/2024	60	07:50AM	12:19PM	05:19PM		3	\$30.00	\$90.00
Tue	3/5/2024	60	09:49AM	12:17PM	04:51PM		3	\$30.00	\$90.00
Wed	3/6/2024	60	08:31AM	12:48PM	05:34PM		3	\$30.00	\$90.00
Thu	3/7/2024	60	09:33AM	11:49AM	05:51PM		3	\$30.00	\$90.00
Fri	3/8/2024	60	08:50AM	12:50PM	04:51PM		3	\$30.00	\$90.00
Mon	3/11/2024	60	07:50AM	12:50PM	05:34PM		3	\$30.00	\$90.00
Tue	3/12/2024	60	07:50AM	10:17AM	11:48AM		3	\$30.00	\$90.00
	ISCI/Tape#: 60B Final W Tag 022324					Desc: 60B Final W Tag 022324			
Fri	3/1/2024	60	08:18AM	10:17AM	03:19PM		3	\$30.00	\$90.00
Mon	3/4/2024	60	06:19AM	11:34AM	04:19PM		3	\$30.00	\$90.00
Tue	3/5/2024	60	07:18AM	11:17AM	03:51PM		3	\$30.00	\$90.00
Wed	3/6/2024	60	06:18AM	10:17AM	04:34PM		3	\$30.00	\$90.00
Thu	3/7/2024	60	06:34AM	10:34AM	03:34PM		3	\$30.00	\$90.00
Fri	3/8/2024	60	07:18AM	11:49AM	03:51PM		3	\$30.00	\$90.00
Mon	3/11/2024	60	06:32AM	10:34AM	03:19PM		3	\$30.00	\$90.00
Tue	3/12/2024	60	06:49AM	09:18AM	11:17AM		3	\$30.00	\$90.00
						WOSM-FM SPOT TOTALS:	96		\$2,160.00

SuperTalk Mississippi Media is committed to the elimination of bias based on gender, race, class, econ status, ethnic, culture or religious background, sexual orientation, age or physical ability.

Billing Questions? Call Angie at 601-991-2333 . A convenience fee will be added to credit card payments. Thank you for your business!

Be sure you send remittance per your STATEMENT. This is only an invoice.